PACIFIC DOMES'

15ft. Grade School Dome

Owners Setup Manual
Please read the entire instruction manual before assembling your dome.

il !  7 S

il k

= ';. ¥
' Ve ]
8 A% — Y
"/,
f / Ly
Wt
oy »
7
S '
1/

PACIFIC DOMES, Inc.
PO Box 1047 « Ashland, OR 97520 e (888) 488-8127 « www.PacificDomes.com




Climbing Dome Frame Instructions

You will need :
a couple of friends
a couple of ladders
a couple of 9/16” wrenches*
Hex Key wrench or hex key adapter for drill or screwdriver*

*Ratchet wrenches and a screwdriver with a for a hex key bit adapter will make
the job easier, but normal wrenches will work fine as long as you have a hex key
wrench for the top of the bolt. A drill with a 9/16” socket tip will speed things up.

In this kit you will receive: 30 ‘A’ struts
45 ‘B’ struts
70 ‘C’ struts
10 ‘D’ struts
10 ‘E’ struts

Marking the struts:

The climbing dome frame has 165 struts in 5 different lengths. Each strut is
marked with a letter ‘A’ through ‘E’ at one or both ends. To help make it clearer
as you are erecting the frame, mark each strut with the provided stickers. Put the
sticker in the middle of each strut facing the inside of the dome. Double check
each strut as you put up the frame.

Assembly:

Start at the bottom, bolting the struts together as you go. Complete each

row before you move up to the next. Do not tighten the bolts until the entire
frame is together because you will be unbolting and adding more struts. We

find this much easier than trying to bolt all the struts on at once. Place the upper
struts to the outside of the bolt. To avoid bending the strut ends, let the upper
struts hang down until you are ready to add to them.

Use the written instructions below if they are helpful to you.
Some people find it easier to set up by just following the frame diagram.




Begin by bolting the perimeter, the bottom of Row 1 together. Layout ten Cs and
5Bs,CCBCCB...inacircle. Layout ten Cs, ten Ds, and ten Es at the
appropriate bottom hubs around the circle There will be four strut ends at each
bottom hub connections. There will be fifteen bottom bolts. Make sure struts
match the Bs, Cs, Ds and Es on your frame diagram. Place the Row 1 C, D, and
E side struts on the bolt before the perimeter CCB struts.

Add the bottom of Row 2 to the Row 1 vertical side struts.

There will be fifteen bolts at this level. There will be four strut ends at each bolt.
Bolt together loosely, the C C B pattern atop the C D E Row 1 side struts.
Remember to add them to the outside of the bolt. If you add two Bs, then skip
one strut all the way around, and then go back and add the Cs, it may be easier
to raise your side wall.

Add the sides of Row 2 to the bottom of Row 2.

Remove the bolt from a hub at the top of Row 1. Place two Cs or an A and a B,
depending upon what Row 1 side struts you have, on the bolt and return the bolt
to the top of Row 1. Let the added struts hang down outside Row 1 until you add
the bottom of Row 3

Repeat the procedure for the remaining rows to the top.

Add the bottom of Row 3 to the Row 2 vertical side struts. . .

Bolt your last bolt by bringing five A struts together at the top.

Tighten all bolts when you are done.

Now you are ready to anchor your dome. Proceed to Frame Anchoring
instructions & diagram below.




Child Safety Hardware Instructions

e Assemble the dome frame as indicated in the assembly portion of the owner’s manual.

For 5 strut hubs use only:
7/8” Button Headed Socket Cap Screw (BHSCS)

For 6 strut hubs use only:
1” Button Headed Socket Cap Screw (BHSCS)

Locate “T” nuts on inside face of hubs and screw the BHSCS in from the outside of
dome.

It is very important that the guidelines above be followed to avoid injury from
exposed bolt threads!

BHSCS should be tightened until threads are flush with face of “T” nuts

We also suggest that you use Loctite Red Threadlock to prevent accidental loosening of
the bolts over time!

Included in Hardware Pack:
Safety Hardware
(30) 7/8” BHSCS
(45) 1” BHSCS
(65) “T” Nuts

(2) 7/32” Hex Wrenches




Alternative Frame Build Method

In addition to barrel nut and button head socket cap screws, we have shipped extra nuts and
bolts with longer shanks. We found that assembling domes with safety hardware can be
difficult; as a result, we encourage you to use the longer bolts initially to get the frame together
then exchange the hardware hub by hub.

e Assemble the dome frame as indicated in the assembly portion of the owner’s manual
using the 3/8”-16X1 1/4” fully threaded tap bolts and 3/8”-16 serrated flange nuts.

Once the dome is assembled, replace the temporary hardware for the Child Safety
Hardware. Replace hardware one hub at a time by tightly clamping the flanges of the
hub together using vise grips or clamps. (Make sure the clamps are holding the hub
stack together securely as it can present a hazard if they suddenly release from the
clamps).

Temporary hardware will be replaced with 7/8” Button Headed Socket Cap Screw
(BHSCS) or 1” Button Headed Socket Cap Screw (BHSCS) depending on if the individual
hub is comprised of 5 or 6 struts.

Included in Hardware Pack:
Temporary Hardware
(65) 3/8”-16 Serrated Flange Nuts
(65) 3/8”-16 x 1 1/4” Fully Threaded Tap Bolts
(130) 3/8”x1 1/4" Fender Washers (powder coated domes only)




Completed Hub with Safety Hardware

Hub View from Outside of Dome




Frame Anchoring — Before Frame is Built with Perimeter Plan
Option 1

Stake center of Dome

Mark hole locations as indicated on perimeter plan

Dig a 12” Diameter hole about 17” deep at the marked hub locations
Fill bottom 2” with gravel, tamp down

Insert anchor strut with rebar into each hole

Assemble bottom row of dome frame and anchor struts above each hole
Measure the distance to each hub from the center of the dome
Level the bottom row of struts with strut hole 2” above ground
Double check your measurements

10 Brace all components before back filling

11.Back fill the holes with concrete

12.Recheck all strut positions for accuracy

13.Let concrete cure for 24-48 hours

14.Build the remainder of the dome on top of base row struts

©CoNo,rwNE

Frame Anchoring — After Frame is Built with Braces & Markers
Option 2

Build dome frame in desired location

Mark bottom hub locations for concrete holes

Move dome

Dig 12” diameter holes 17" deep at the marked locations

Move the dome back to the original position with hubs centered over the holes
Install anchor struts and rebar

Level dome

Back fill holes with concrete

Let concrete cure for 24-48 hours

1.
2.
3.
4.
5.
6.
7.
8.
9.

% Refer to Following Diagram s




MV1 A8_G3LT4IHO¥d SI_SIW0d DI4IDvd 40 onmmHzﬁn_ﬂ 10N |ﬂ dvg3y 8 1NY1S 1VDOILYIA HLIIM m_._.m_w_UZO&
3HL_LNOHLIM INIWN20d SIHL 40 350 ¥3IHIO ANV . . :
*S10NA0¥d 53W0d DI4IIVd 40 dnl3S ANV ‘3TvS A8 NMvHd iNOISTAJY :NOILJINJST

‘NOIS3A 40 5350d¥Nd IHL H04 SIWOQ DI4TIVd WOMd WH®N\m®\m®K 88-IS DNILOO04 3WOod DZDOmU><|_nﬁ£

NOILVWYOANI A¥VI3ITHAONd SNIVINOD IN3IWNDOd SIHL - 21va - WISWNN, DNIMVHA T3TLTL ONIMYY

TLTY 8V TYS XV LELL°88V'TYVS 301440
07S/6 “¥0 ONVIHSY ‘€ °31S 3NV ¥3IA0T1D S8S

-.SFN0A J[HJ[OVd

TIAVEO

SLINALS S3IN0J




[MV1 A8 C3LIGIHO¥d SI SINOQ JlIVd 4O NOISSINY3d 3HL LNOHL
S g £00C 9NV €2 | L0781~ a8 50700 St SANOQ DIHIOV d | g hmims i s s o
-Alva “IENNN ONIMVHA -GAVN ONIMVYA OL4I0Vd NOYd NOLLVWNHOANI ANVL3INdOdd SNIVANOD LN3WNJOQ SIHL

ANVHOVIA JAVHd JNOA G

gnH dOl




sS4l

‘AB_NMVyd

L00C 9NV ¢¢

-lva

L0—G1—=dS Sl

“HIBANN ONMYSa -3NVN ONIMYYQ

SJNOQ Ol4I0Vd

MV1 A8 QALIGIHOYd ST SINOQ OLERVd 4O NOISSINGId JHL LNOHLM
AN3NNJ0Q SIHL 40 3SN ¥3HLO ANV "SLONCO¥d S3NOQ JlHIDVd

40 dNnL3s ANV ‘JIVS ‘N9ISIA 40 S3S0d¥Nd JHL ¥04 SINod
OL4I0Vd NOYd NOLLVWNHOANI ANVL3INdOdd SNIVANOD LN3WNJOQ SIHL

'dV143A0 S3003 3AISLNO FHL LVHL FO0ILON
‘SANIL 3AId 413SLI SLV3IdAd Nd3LLvd SIHL

NVJOVIA FAVE4 JNOd Gl




SN

‘AB_NMVyd

900¢ 934 ¢¢

dlva

¢1=G1—-as

“HIBANN ONMYSa

SMOd JFNOA GI

-3NVN ONIMYYQ

SJNOQ Ol4I0Vd

MV1 A8 QALIGIHOYd ST SINOQ OLERVd 4O NOISSINGId JHL LNOHLM
AN3NNJ0Q SIHL 40 3SN ¥3HLO ANV "SLONCO¥d S3NOQ JlHIDVd
40 dNnL3s ANV ‘JIVS ‘N9ISIA 40 S3S0d¥Nd JHL ¥04 SINod

OL4I0Vd NOYd NOLLVWNHOANI ANVL3INdOdd SNIVANOD LN3WNJOQ SIHL

g o 0 8 0 o @ o O g o 0 a8 02 9
\mﬂm 3 d\ /o 9\ /a3 va/\msw/\m“m 3 A\ /o o\ /a3 MJV/\W>W/\AWM HMMV{XWJV/.;om_mmE

‘MOd dNOO3S

‘MO ddIHL

MOd Ad MO — JANVH4 JANOd LOO4 Gl

‘MOd HLdINO4




900¢ 934 ¢¢

‘3Lva

V] A8 QLLIGHOYd S| SINOQ OLVd 40 NOISSINE3d FHL LNOHL
S0—G1—dgds JAVH4 FNOA Sl mm _\/_ O Q Q _||_ _ Q < AH_ INJWNO0Q SIHL 40 3SN Y3HLO ANV 'SIONG0¥d SINOA OLIIDVd
. . 40 dNU3S ONY ‘TTVS ‘NOIS3A 40 S3SOdNd IHL ¥04 SINOQ
HIBNNN ONIMYNA “INYN ONIMYYA 0140V WOM4 NOLLYWHOANI ANVL1NdO¥d SNIVINOD LNINNOOQ SIHL|

‘103483 SI JAVY4 4314V LNYLS 48, dIHSYA JHL JAONIY HOOd ANOWYId d04
NOL10d8 1V14 — AON3INOIY4—¢

JAVH4 JNOCQ 100HOS J0dVHO Gl




'MV1 A8 Q3LIGIHOYd SI SINOQ J130Vd 3O NOISSING3d 3HL LNOHLM

HSIN

‘A8 _NMVYd

600¢ ANV ¢

-3lva

¢l=G1—as

“4IBANNN ONMYSHA

NOILVAZ1d FNOC Gl

“3NVYN ONIMY YA

LN3IANNJOQ SIHL 40 3SN ¥3HLO ANV 'SLONAO¥d S3NOQ JI4I0Yd
40 dNL3S ANV ‘ITIVS ‘NOIS3IA 40 S3S0d¥Nd IHL ¥04 SIN0d

SJNOQ Ol4I0Vd

O14I0Vd WOY4 NOLLYWHOANI AY¥VL3IMdO¥d SNIVINOD LN3WNJOQ SIHL|

[NZ8 0]
=— .2/ 8—.0—

=—[N1O'L] .£—.G
[N602] .2/l 01L—.9

[negszl .2/L G—.8

[N6YL] L LL—7F

[(ne62] .2/l 6—.6
[NL6'¢] 01—
Ny v] 2/ 8=l




	15ft Climbing dome manual cover new
	11' Climbing Dome Frame Instructions
	15' Diagrams



